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Perform the following mathematical operation and express
the result to the correct number of significant figures:
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A gas has a boiling point of -321°F.
What is this temperature in Kelvin?
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A 15.9361 g solid was placed in a graduated cylinder
which contains 113.3 mlL of water. The water level wWwas
increased to 119.1 mL. What is the density of that solid?
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B. 2.75 g/mlL :
C. 2.748 gsmlL V= 119-1=-113.3 = S’-B ml
D. 27 g/smL
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E. 0.27 gsmlL

Which one of the following is a heterogensous mixture?
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What is the name of Ag S0 7
| 3

| silver sulfite S?Jvev' n e QXGQPIAB_M ™
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B. Silver (I) sulfate ' == Sl .
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Q. Silver (I) hyposulfite d
D. Silver persulfate
E. Silver sulfate
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75as3- and ®6Kr have the same number of:
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Which of the following is a transition metal?
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Which of the following pair of compounds illustrates the
Law of Multiple Proportions?
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A sample of atomic hydrogen weighing 1.01 g contains the
same number of atoms as:
I. 16.00 g of oxygen gas. II. 8.00 g of oxygen gas
IIY. Y2.00 g of vig,
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When a 1.50 g sample of a compound containing only carbon

and sulfur is burned, 0.87 g of CO and 2.53 g of SO0 are
z 2

produced. Determine the empirical formula of this compound.
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If 2.00 g of NaI are produced from a mixture of 10.0 g of

I and 10.0 g of NaOH, what 1is the percent yield?
2

3I (s} + 6NaOH(s) ——> 5Nal (s) + NaIO (s) + 3H 0(1)
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Antimony (Sb) occurs naturally in two major isotopic forms:
1215b with mass 120.9038 amu and '23Sh with mass 122.904) amu.
Determine the percentage natural abundance of the 121S5)h
isotope, if the weighted average atomic mass is 121.75 amu for

antimony.
121 = 120. 9058 w44 + 122 -Foul X7 Ab.
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Identify the reducing agent in the following redox reaction:

SFe?* + Mno- + B8H* --> S5Fe3* + Mn?* + 4H O
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25 mL of 0.60 M Mg(CH) are added to 25 mL of 0.u40 M HCL.
t

Calculate the molar concentration of OH- in the resulting

- solution.(Assume that the base is completely dissociated)
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What volume of water must be added to 15 mL of 0.60 M K SO
z L]

to prepare a 0.045 M solution?
e M)V, =5 Vo
5. 1sal 0.dp el = S0y xVa

c. 385 mlL
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Given +the redox reaction:

Mno- + I° -->» HnO + 1I0°
L] 2 3

When the above equation 1is balanced in basic solution,
the smallest whole numberxr coefficeint of H 0 is:
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